% LAPPSET.

DASH PARKOUR

ASENNUSOHJE
MONTERINGSANSVISNING
INSTALLATION INSTRUCTION
AUFBAUANLEITUNG

NOTICE D'INSTALLATION

DATE: 24.2.2021

081763M

Copyright Lappset Group Ltd




s LAPPSET. 081763M 1(1)

DASH PARKOUR DATE: 24.2.2021 3

081700M PCS 081721M PCS 081727M PCS 081734M PCS PCS PCS
1 1 1 1

e | | e | e || e | B B

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

Copyright Lappset Group Ltd

PCS

PCS

PCS

PCS

PCS

PCS




Copyright Lappset Group Ltd

== LAPPSET. 081763M

DASH PARKOUR DATE:  24.2.2021

+7850
+6760 |
+5620
+5330
o
<
~
N
+3700 \
+3150 / T~ +3050
P e}
/ / N
2140 f / N
: / +2060
o / ®
+1590 T @/ \ +1620
A
| 700
l
|
‘ o
\ S
+0 L o~ &
5 g 8 3l g ¢
° ~ % 3 2 R




== LAPPSET. 081763M

DASH PARKOUR DATE:  24.2.2021

—— EN Impact Attenuating Surface (IAS) 28.1 m2

— Falling Space 56 m2 1:100
Max Falling Height 1910 mm _O — _5
9580
8680
8180
2| 3|8 B
0| ©| — 2
0)| 00| s
o
©
<
To)

6280

9020

+1910

+0

Copyright Lappset Group Ltd




= LAPPSET.

DASH PARKOUR

081763M

DATE: 24.2.2021

Sb

Copyright Lappset Group Ltd

: 50




s LAPPSET.

DASH PARKOUR

081763M

DATE:

24.2.2021 6

PRIMARY RULE:

EEEEEEEEEEEEEEEEEEE

AAAAAAAAAAAA

081700

Copyright Lappset Group Ltd




Lappset Group Ltd

ight

pyr

s LAPPSET.

DASH PARKOUR

081763M

DATE: 24.2.2021




Copyright Lappset Group Ltd

% LAPPSET.

081700M

DATE: 17.2.2020

1(2)

(1) 702341

pes|(2) 709381 |pes

B B
kel

SURFACE

(3 910219 |pcs

120x120x200

FOOT OPTION FOR
DEEP MOUNTING

709379+
(O 902564 |pcs

1]

L 550
1:50
I
0 2
- Falling Space 8.2 m2
Max Falling Height 200 mm
+200
. 250 0
/ o H \
/, N \\
" ‘o 1500 ‘ 9
: B : N
M
+200
. g ; [
AN — s/ +0
3250




Copyright Lappset Group Ltd

% LAPPSET. 081700M

DATE: 17.2.2020 2(2)

Shadow lines 590

[s]=13

f
G
g
AL
AL
< TR
55 IR e
$33333 $SSS5888885ES<S <SES585S5SEEE $SSSEITITEIERT SITITITITITI T
33538 SRR TIeRets $383858E3838SS $ESSEEEEESSIT PRI PRI TITITITI R R TSI eSeST
$$583 $833538888558 $38355888885KS $E8358588883S $333538ES $E8353588453S $353535353535ER8s
29393933 1$2$258552525<S <5< <$2S<S< $2535< <$<S<S: <S<S<: <SS! 1$<$<S255<$<SS! 1$<S<58552S<5SRS
SITITITS $R535R8$R85S 25 SIS SIITITS 25825 SIS S99 I ITITITITITIS SIITITITITITITHS
525<$<3<: 1$<$255<5<525<S <5< <$2S<S< $25<35< <SS <S<S<: <SS! 1$<$<S25S<$<SSH 1$<$<5252528<5<
$S83558 $SS3E558583ESS < 2 $ESSRREIKE $28355855S $S83558858535ES $SSSEEEENES
£SSSS5558S $SSSS5E5ESSSE SSSSSESESERS B sesasasess SSSSSSSEEKS SSSSESESESSSES $S8555588s<S
£33558855% <33555838585KS $SS3REREISES 348308585483 $SSSRERE3RE <SSSERETS $330508588
FESSEEESES $SSSSEESESSSS SESSSSSESEIS B sesesaess SSSSSESES SSSSESESESSSSS $SSSSEES
23335888858 $3355853888555¢) $8835588385355% 8833555858558 2835553858538 8385388885553 $3555558
E353588858S8S3S 2535858585858 S3535858585858 5853585858585 S3SS58588S $S353588858538S 253555
LEESE83853555858S $S3555838585KKS $SS35K8E583NKS BoIeaeIeIsIeness SSSSEEIERKE $SSESEESESEES <3S
SSSSSSERSSNNNES SSSSSSESSSNES SSSSSESSSSSSNS SIS SSSSRSSSS SSSSSRIRESE
55553 SRS SEEEEEES $EE3IREIRE $335588585%E SSS3E8RERS03EES 2
2 S5 SSSSERREE SESSSESSES S




Copyright Lappset Group Ltd

3% LAPPSET.

081721M

DATE: 10.9.2019 1(4)
(1) 702286 |es|(2) 707210 |pes|
a 1 2]
‘ 65x65 | | 118x118x503 | |
=7 |(3® 707212 |res|(4) 707889 |pes|
N “ (4 il 2]
N~ \/ | [118xi18xi254] | 118x118x472| |
& 7 |5 708443 [rcs|(6) 708733 [pes
\ 1 1
/ — —
118x118x352 | | 15x148x745 | |
(7) 708734 |pcs|(8) 708857 |pes
=17 JG [T

+650
+520 15x118x1365 | | 20x133x149 | |
(9) 708731 [res(10) 900240 |Pes
+0 T Y my
\ 1390 \ ‘ 630 ‘ ] ]

l |
15x466x745 | | ©8x70 | |
(1) 903093 |pes(i2) 905103 |Pcs|
4 2]
INSTALLATION OF A SECOND HAND M m

28x90 | |PT-28/32-H| |
(13 905112 |pes|(i4) 908698 |Pes|
il il
@22 | | 3xt14x108 | |
(19 910266 |pesfi6) 708732 |pes|
2] 1]
90x108x118 | | 15x466x745 | |




® LAPPSET. 081721M

DATE:  10.9.2019 2(4)
(17) 980100 |pcs|18) 980114 [pes|ig) 980123 |pes
28 4 25
— o H
o5x60 | | w4x20 [ |  @7xe0 | |
FOOT OPTIONS
709261+ 709262+
(O 910267 [pes|() 910567 [ees
SURFACE |3 |CONCRETE |3
152x200x200| | 117x117x715 | |
————  Fdlling Space 13.8 m2 —1:50:|
Max Falling Height 650 mm 0 2
1540
‘J \\\\
ol 1500 3
™ — 1500 ! "
\ 1L — - |
\\\ o ///,
AY o /
' ©
5 4540
e
Q.
3
0
(©]
E
[oN
Q.
S
<
)
5,
&
O




3(4)

10.9.2019

081721M

DATE:

% LAPPSET.
FLORA

PYT dnoJ9 195ddDT 8661 TUDIAT0)



Copyright Lappset Group Ltd

% LAPPSET.

081721M

DATE: 10.9.2019

4(4)

DET 1

DET 2

900240
(USE DRILL JIG)

DET 3

@22
905112

@8x90

905103

@8x70
900240

DET 5

@7x60 -

980123

DET 6

B7x60
980123

JIG DET A (USE DET 2-4)

NOTE:

Use drill jig /08857
to predrill @5V¥50
holes for 910266
and 908698

/08857

910260




Copyright Lappset Group Ltd

3% LAPPSET.

081727M

DATE:

12.9.2019

1(4)

(1) 702286

(2) 707213

&

PCS

1

65x65 118x118x1490
(3 707517 |res|(a) 708137 |pos|
2 3
118x118x1892| | 118x118x745 | |
(5) 708715 |pcs|(6) 708840 |Pes|
i a
15x745x2140| | 15x148x2018| |
(7) 708845 |pcs|(8) 708846 |pes
+1570 ER R
+1360 — —

+920 % /
15x745x2138| | 15x118x1751| |
(9) 708857 |cs|(10) 980154 |pes
+0 Bl —1
1620 2020 — —

| I |
20x133x149 | | @24/13 | |
(1) 900240 |pes|i2) 900965 |Pcs|
24 i
INSTALLATION OF A SECOND HAND W @

g&x70 | | w0 | |
(13 903093 |pcs(i4) 903533 |Pes|
24 4
gex90 | | sru2 | |
(19 904133 |pes((i6) 905103 |pes|
nl 6
M10x80 | |PT-28/32-H| |




® LAPPSET.

081727M

Copyright Lappset Group Ltd

DATE: 12.9.2019 2(4)
(17) 905112 |pes|(18) 908069 |pesfig) 909111 |Pes(2)) 909248 |Pes|(2]) 909638 [Pes|22) 910254 |pes
2] na T 1] 4] il
S
O || ||| &
{
@22 | | woeox87.6 | | wmi2xioo | | w12 | | @20/105 | |@e0x650x1290 |
29 910262 [pcs|@4) 910266 |pes|@5) 980123 [pes|26) 980114 [pes
— = ) n FOOT OPTIONS
— | — — 709261+ 709262+
W = (O 910330 [pes|() 910567 Jres
SURFACE |3 |CONCRETE |3
@60x435x795 | 90x108x118 | | @7x60 | | @4x20 | | @
152x200x200| | 117x117x715 | |
————  Fadlling Space 18.8 m2 —1:50:|
Max Falling Height 920 mm 0 2
1750
; m |
| |
L"‘\\\
| e
o ‘ o
< <
8 ] . &
| 1500
| |
? = 1500
\\\ O ///
\ o /
Q J
4750




% LAPPSET.

081727M

FLORA DATE: 12.9.2019 3(4)
DET 5
DET 7 ‘E’
DET 2-3
lgé DET 4
‘\i;} DET 1

N

@) (3) Foor

JIG DET A (USE DET 2)

Copyright 1998 Lappset Group Ltd

NOTE:
Use drill jig 708857/
to predrill ¥5V50
holes for 910266

/08857

910266 [N\~




Copyright Lappset Group Ltd

% LAPPSET.

081727M

DATE: 12.9.2019 4(4)
DET 1 DET 2 DET 3
@22

905112 @8x90
903093

(USE %(F){?L2L4(\)JIG) 905103

3760 M12x100

909111

@7x60 -~

980123

D \ ‘f\
SRL12

903533

M10x80
904133

980123 024/13 ©20/10.5
980154 909638
M12 M10
909248 900965
DET 7

PRE DRILL @6mm holes




Copyright Lappset Group Ltd

% LAPPSET.

081734M

DATE: 19.2.2021 1(6)
(1) 702341 |res((2) 707213 |pes|
1 8
90x50 | |118x118x1490| |
(3 707517 |res|(a) 708137 |pes|
8 m 4
118x118x1892| | 118x118x745 | |
(5) 708836 |cs((6) 708837 |pes|
4 4
15x745x1736 | | 15x745x2168| |
(7) 708839 |pcs((8) 708840 |pes|
2 4
15x745x1897| | 15x148x2018| |
(9) 708841 |pcs(10) 708857 |pcs
4 JIG BN
15x148x1616 | | 20x133x149 | |
(1) 911288 |pcs|(2) 911289 |pes
COLOR 1~ “COLOR |—
4 2
- :113173 — 15x745x1465 | | 15x745x1897| |
e (12 910056 [Pcs((4) 980123  [ecs|
2 P16
—_  +1010 /
]
+250 140690 | | @7x60 | |
+0 1I 11 (159 900240 |pcs(i6) 903093 |pes|
1620 ‘ 2020 ‘ 128 72
I |
g8x70 | | @8xe0 | |




Copyright Lappset Group Ltd

® LAPPSET.

081734M

DATE: 17.10.2022 2(6)
(@) 905103 [pes[i9) 905112 [pes[d9) 910266 [pes|ed) 709110 [pes[@) 905086 [pes|ed) 908371 [pes]
124] 64 52| =l 8 4
N Q) O
PT-28/32—H| | @22 | | 90x108x118 | | 118x118x745| ©44/13.5 x 3.9 | 42-38/40 | |
PCS PCS PCS
23 909132 T@ 909248 = pes| F00T OPTIONS
— — — 710175+ 710176+
= =) (O 911817 |res|() 911820 |es
SURFACE |4 |CONCRETE | 4
M12x280 | | M2 | ] - j
250x200x200| | 803x117x117 | |
EEm— EN Impact Attenuating Surface (IAS) 28.1 m2 1:50
e —
- Falling Space 28.1 m2 0 2
Max Falling Height 1910 mm
—
(@]
o0
©
2070
1680 =
\
S 8
g (o]
1680
| C
\\\ o
N o
s
5440




% LAPPSET.

081734M

DATE:

19.2.2021

3(6)

DET 1

@8x70
900240

022
905112

905103

SR
‘ }*/
903093 v
PT-28/32—H

FIRST FLOOR

NOTE:
Use drill jig 708857
to predrill @5V¥50
holes for 910266

/08857

DET 2

Copyright 1998 Lappset Group Ltd

DET 3

Install this once you have installed
second floor on top of it !

@7x60
980123

second floor on top of it

Install this once you have installed




% LAPPSET.

081734M

DATE: 19.2.2021

4(6)

DET 4

@8x70
900240

022
905112

903093

PT-28/32-H
905103

SECOND FLOOR

NOTE:

holes for

/08857

Use drill jig 708857
to predrill @5V50
910266

DET 5

3
\}
(4]

@44 /13.5x3.9
905086

M12x280
909132

M120
909248

Copyright 1998 Lappset Group Ltd




% LAPPSET. 081734M

DATE:  19.2.2021 5(6)
DET 6
all
DET 7

Install all plates




#® LAPPSET. 081734M

DATE: 19.2.2021

6(6)

DET 8

42-38/40
908371

DRILL PREHOLES @6mm
BEFOREINSTALLING HANDLES

@8x90
903093

Copyright 1998 Lappset Group Ltd

DET 9




8% LAPPSET.

IAS EN 16899

Copyright Lappset Group Ltd

REF:
DATE:

.

24.9.2020

4x

]

]

h <1600

Totally hard surfaces or
materials with very limited
impact attenuating properties.

Case by case risk assessment is
needed including e.g. evalution

whether there is forced movement,
what is the intended exercise and where
will the product be installed.

Materials with significant
impact attenuating
properties.

Totally hard surfaces.
E.g. concrete or asphalt

Materials with very limited
impact attenuating properties.
E.g. wood

UL LD DT I 7T 770

fine gravel 0—8 mm

s _— P

A g AN Cama g 9% oL

LRy 435437 $010 emla s
- e 44 40 P ®

Unsorted sand/ topsoil

el

h = 1600-
h <3000

Loose fill material

E.g.

sand/gravel 0,25...8 mm D60/D10<3,0
Woodchips 5...50 mm

bark 20...80 mm

Syntethic granulates

S h

40 mm ~> 1,6..~< 1,8 m
50 mm ~> 1,8..~< 2,25
55 mm ~> 2,25..~< 2,4
60 mm ~> 2,4...~< 2,55
70 mm ~> 2,55..~< 3,0

3333

Note. For accurate values, see
manufacturer’s instructions.






